
 
 

Instructions for:  12360 SERIES 
FOLDING PONTOON LADDER 

 
 

Write for                                              GARELICK                                                          Phone: 651-459-9795 
A complete                                           644 2ND Street, PO Box 8                            E-mail: mail@garelick.com 
EEz-In Catalog                                     St. Paul Park, Minnesota 55071                 Website: www.garelick.com           
                                                                                                                                                                    04/10 

12.620 

MOUNTING INSTRUCTIONS 
Thank you for selecting our superior quality Garelick 
EEz-In Brand Boarding Ladder.  Your ladder was 
designed and manufactured using the finest material 
available to provide long product life.  Choosing the 
proper size ladder for location and correct fit is 
important to assure safe, convenient, and reliable use. 
 
Although mounting hardware is not provided due to 
the wide variety of applications and diversity of boat 
shapes and sizes mounting holes have been provided 
and it is recommended to use at a minimum 1/4" 
diameter fasteners.  These fasteners should be through 
bolted with a backing plate. 
 
SAFETY GUIDELINES 
• No jumping or diving! 
• Do not use when motor is running 
• This ladder designed for boat use only 
• Face ladder when entering boat or water 
• Only one person on ladder at a time 
• Check all steps and hardware before using 
• Never operate your boat with the ladder in 

“down” position.  Serious injury, or damage to 
your boat or ladder may result. 

• When underway, fold ladder up and 
secure using the Velcro strap provided. 

 
 
MAINTENANCE 
• Safety tip 

Periodically check mounting hardware and re-
tighten (due to normal boat operation.) 

• Keep that bright finish! 
Local weather conditions may contribute to 
minor corrosion.  Stainless, like other metals, is 
not completely free from corrosion attack.  
Regular fresh water rinsing and periodic cleaning 
with a mild abrasive cleaner will help to retain 
luster. 

 
 
 
 

GENERAL ASSEMBLY INSTRUCTIONS: 
Step 1: Assemble the (2) U-channels to the (2) top 
verticals by using (4) 1/4-20 x 1 5/8" machine screws 
with (4) 1/4-20 locknuts. 

 

 
 
Step 2: Insert (6) black caps into the end of the top 
vertical as well as into the ends of the bottom verticals. 

 
 
 
 
 

-For ease of assembly 
secure the hook end first 
then attach the opposite 
end.  
-Fastener heads should 
always face into the 
ladder 

U-Channel 

Top Vertical 

Black Cap 

1/4-20 Screw 
and Locknut



 
 

Instructions for:  12360 SERIES 
FOLDING PONTOON LADDER 

 
 

Write for                                              GARELICK                                                          Phone: 651-459-9795 
A complete                                           644 2ND Street, PO Box 8                            E-mail: mail@garelick.com 
EEz-In Catalog                                     St. Paul Park, Minnesota 55071                 Website: www.garelick.com           
                                                                                                                                                                    04/10 

12.620 

Step 3: Assemble (1) black step to the top verticals 
using (2) #10 screws (Note: tighten all screws flush to 
step - screws shown out for clarity).  

 
 
 

 
 
Step 4: Assemble (2) black steps to the bottom 
verticals using (4) #10 screws (Note: tighten all screws 
flush to step - screws shown out for clarity).  

 
 
 
 

Step 5: Join the top vertical section to the bottom 
vertical section using the hardware shown below. 
 

 
 
 
 

 
 
 
 
 
 
 

Align hole on step with hole 
on vertical. 

#10 Screws 

Black Step 

Pinch  
Guard (Goes 
under hinge) 

Hinge 

Bottom 
Vertical 
Assembly 

Top Vertical 
Assembly 

1/4-20 Screw 
and Locknut

Flats on 
step to 
face rear 
of ladder 



 
 

Instructions for:  12360 SERIES 
FOLDING PONTOON LADDER 

 
 

Write for                                              GARELICK                                                          Phone: 651-459-9795 
A complete                                           644 2ND Street, PO Box 8                            E-mail: mail@garelick.com 
EEz-In Catalog                                     St. Paul Park, Minnesota 55071                 Website: www.garelick.com           
                                                                                                                                                                    04/10 

12.620 

Step 6: Attach the standoffs to one of the black steps.  
Choose the step that best suits your application and 
aligns with the pontoon accordingly to provide the 
most support.  
 
Step 6A: Punch holes into the black step by using the 
1/4-20 screw provided in the hardware bag.  Align the 
screw with the hole on the bottom of the black step and 
strike with a hammer to pierce a hole as shown. 
 

 

  
 
Step 6B: Using the hole that was punched in step 6A 
assemble the standoff to the step as shown. 

 
 
 
Step 7: Attach the Velcro strap to one of the top 
verticals to secure the bottom vertical section in the up 
position when not in use. 

 

 
 
 
 
 
Step 8: Product is now ready to be installed onto the 
boat and ready to be used.  Ensure all fasteners are 
secure and tight. 
 
 

PARTS LIST 

Part 
Number

Bagged 
Parts  Description  QTY

08.878     MTG BRKT, U CHANNEL  2 
49.782     STANDOFF HARDWARE BAG  1 

   03.079 
1/4‐20 X 1 1/2 MACHINE 
SCREW  2 

   03.221  1/4‐20 LOCKNUT  2 
   10.001  WHITE TIP  2 
   50.012  STANDOFF  1 

60.753     TOP VERTICAL  2 
60.754     BOTTOM VERTICAL  2 
60.755     BLACK STEP  3 
60.758     HDW BAG 12360  1 

   03.103  #10 X 2 SCREW  6 
   03.221  1/4‐20 LOCKNUT  8 

   03.842 
1/4‐20 X 1 5/8" MACHINE 
SCREW  8 

   06.1660 PINCH GUARD  2 
   06.184  FLAT BLACK PLUG  6 
   49.205  STRAP, VELCRO  1 
   50.124  HINGE  2 

 

1/4-20 Screw and Locknut 

Stand-off 

Insert the strap through 
itself into a loop as 
shown.  

Pull strap tight and wrap it around opposite 
tube to secure ladder assembly together in 
the up position.  



 
 

Instructions for:  12360 SERIES 
FOLDING PONTOON LADDER 

 
 

Write for                                              GARELICK                                                          Phone: 651-459-9795 
A complete                                           644 2ND Street, PO Box 8                            E-mail: mail@garelick.com 
EEz-In Catalog                                     St. Paul Park, Minnesota 55071                 Website: www.garelick.com           
                                                                                                                                                                    04/10 

12.620 

 
 
 
 
 
 

 


